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Lines with two arrow heads are corrected for 2 degree WEST ERROR of the original PLOT.
The new fix with errors corected by Franklin Ploting Technique is still smaller triangle out-side and to the right of the original plot.. My fix will be the intersection of SOCOA(1) and BRISANT(2).
The original fix is a very bad selection of NAVAIDS HIGER(3) and 1 are almost parallel. Oposit to each other. Another KNOWN, with error, the fix will be betwene them. I selected 2 ( nearest NAVAIDand 1 ( nearest to 90 degreesfor my fix .Facing 3 the LOP goes to my left for a know WEST COMPASS ERROR. A bearing off the chart from my FIX 1&2 intersection towards 3 gave me 2 degrees . SO I now have a quick (2 0r 3 minute correction of 2 degrees WEST .WEST is aways - . I can now use the correction on another round or replot. The replot gave me the fix at the 2 headed arrows.at 1&2. Or the smaller triangle at 1&2&3. Why have another triangle when it is sure that 1&2 are the fix and 3 give the correction for error and judgment of accuracy. 
